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Q1: -Find the derivative of the function Aol d5ide an o) = 1 s J) gl
f(x) =x*+ 6x2 — 2
a) f'(x)=x°+6x3—2x
b) f'(x) = x>+ 6x — 2
c) f'(x)=4x®+12x

d) f'(x) = 4x° + x3 — 2x

Q2: -Find the derivative of the function Alal) Agida 2a ) = 1SN J) gead)
f(x) =sinxcosx

a) f'(x) = cos’x+ sin’x
b) f'(x) = —cos x sinx
c) f'(x) = cos*x — sin’x

d) f'(x)=sin’x—1

Q3: -Find the derivative of the function Alal) Agida 3a ) - 1IN J) gead)
flx)=x*+6x%2 -2

a) f'(x)=x°+6x3—2x
b) f'(x)=x3+ 6x — 2
c) f'(x)=4x®+12x
d) f'(x) = 4x° + x3 — 2x
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Q4:- Find the derivative of the function Alall dEida 2 gl =zl ) J) )
f(x) = xe 2*

a) f'(x)=xe?* -1
b) f'(x) = —2e™2%*

c) f'(x)=e?*(1—-2x)

d) f'(x)= —2xe%*

Q5: - If the function A)all il 1) = 1 ualdd) 39 gl
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Q6: -Find all vertical asymptotes of the Aol I ol da sl ses aa ) = s ualead) I3
function llal

2x
f(x)=x2_1
a)y=0,y=2
b)x=0

JJx=1,x=-1

dy=0

Q7: -Evaluate Ao 2a ) - ragbed) J)igadd)

a) 0
b) 1
c)e

d) oo

Q8: -Evaluate dad 2a ) =z pell) J) gl
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Q9: -Evaluate Ao 2 ) = sl J) gl

9
;(tz +3)

a) 40
b) 270

c) 70
d) 312

Q10: -Identify the asymptotes of f(x) f(20) QA G Hyal) daghad das -z pdilad) ) gud)
4 ()

8
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Q11: -Find g(-2) if QS Y g(—2) gl -1k galadl )
3x3

g(x):x2+x—4

Q12: - SRS A

The dimensions of a playground are adi 3X — 4 Lam ula Al Jia Al

represented by a width of 3x — 4 Faa oAl i) s} 287X + 5 Jshy
feet and a length of 7x + 5 feet. cetlad) Aaloe

-

Write an expression that represents

the area of the playground.

a) 21x* —28x — 20
b) 21x% —13x — 20

c) 21x? — 20

d) 21x? + 15x — 20
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- ke Gl ) el

a) 68.7
b) 114.1

c) 107.7

d) 64.8

Q14: -Evaluate Aagd aa ) - 1 pde g N Jligead)

a) 975
b) 846

c) 910

d) 1008
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